EARAROBEEIERT — 2 N— IBISH —F

20155118260 (K) 14EI%#A3H

SOl O R2BS5HE 5 HYIR2® B R
[AxE4£]1%&:370,000 ™ ~ 2#&:74,000”  33#%&:37,000MW  4%&:0MH / 5&:0M
B BB RESB MK HE BF (F8) 4L (&%) | BBIEG | EOF |SIEH | AR | HE | NG FIR) / BE / £EHS
1lglg|l F—1%55 2 é‘%ﬂaﬁi*ﬁ 1:33.0 2222 |39.6| — | 5 | 386 %igg (5£12)
LT RTANAT— BiRE— o O3 gk mm
2 3| 7rETEY R i 2 E;iﬁ)ﬂz 1:(333).7 4-4-3-3 | 40.1| — 6 443 g%glﬁﬁé)
QAN ETN—T B:A9TTIFF O s ==
3 0| VEIEHY o2 gg’%iﬁﬂ 1:(324>.1 6-6-6-5 |39.8| — | 7 | 408 13?%)&%&;53*5)7
QIN—HNE BRHAT TR b S P I
alglg| FvTFHL—2 2 E%J.Féé?i (11:314/.24) 3-3-4-4 |40.8| — | 3 | 417 %ﬁgg (3£42)
Y LTAN— b BNVI—A LK 0 |am =
sl1lq|7r9z7 B2 ;’JZE%EEU 1(:13/42.)5 1-1-1-1 | 41.3| — 1 481 iéi% (5£42)
LisAE LY b BHIL AL D | s
6 NEEEN = it 2 ﬁ%ﬁz 1(73111:;5 5-5-5-6 | 40.5| — 4 | 400 UJ(;'EF%_(%’;‘)T
R:xvTTFoby—L BTNRVF1TF ) | em m=
7 AESZ RV it 2 %EE’IZ%E 1:(314>.7 7-8-8-7 |40.0| — 8 394 %Eiﬁ?ﬁi’f;
LTYIYRLGR BimL e s kA L P e
gl5l5| 7B TEYT 1 L EE%SIEE 1:(376).1 8-7-7-8 | 42.0| — 2 465 gggz (S£42)
QA= B TO—U—TU T O | egiaagis
9l7l 7|V sn=—var 2 | MEAIE L3 | eese u6| — | o | 4 PRBE (ExE)
AV EIAYT BOTLATLELY 19 | =’ =
® 1 — @B
15l=2F= 1,9,8,3,6,2,4,5,7
2a=3F= 1,9,8,3,6,2,5,4,7
3a—F— 1,9,3,8,6,2,5,4,7
43—F— [1,9,3,8,2,6,4,57
[ RN
-y 9 950 | | ZA K 3-9 1,790 | | # = 3-8 1,750 | | 3EE 2-3-9 53,440
% B 9 250 2-9 7,620/ B & 3-9 4,020 3EE 9-3-2 204,420
3 620/ 2-3 7,880 B H 9-3 7,860
2 1,550

ABICOVWTRDTEEERROODE. TR LIV,




